










PM SHRI KV AMC LUCKNOW  

SUMMER HOLIDAY HOMEWORK 

CLASS-IX 

Q1. Boiling points of diethyl ether, acetone and n-butyl alcohol are 35°C, 56 °C 

and 118 °C respectively. Which of the following se Boiling points of diethyl ether, 
acetone and n-butyl alcohol are 35°C, 56 °C and 118 °C respectively. Which of 

the following set correctly represents the boiling points on the Kelvin scale? 

(a) 306 K, 329 K, 391 K 

(b) 308 K, 329 K, 392 K 

(c) 308 K, 329 K, 391 K 

Q2. Evaporation is directly proportional to  

(a)Surface area                                                   (b)temperature              
(c)wind speed                                                      (d)all of these  

Q3. Plasma membrane is mainly composed of  

(a)Cellulose                                                        (b) lipids  

(c) proteins                                                         (d) both b and c 

 

Q4. Cell theory was proposed by  

(a)Robert hook                                               (b)Leeuwenhoek  

(c)Schleiden & Schwann                                   (d) Robert brown 

Q5. Cell wall is  

(a)Dead and impermeable                                  (b)Dead and permeable  

(c)Living and impermeable                                  (d)Living and selective 

 

Q6. Find out the false sentence. 

(a) Plants absorb water by the process of osmosis. 

(b) Amoeba obtains its food by the process of endocytosis. 

(c) CO2 move in and out of the cell by the process of diffusion 

(d) Unicellular fresh water organisms gain water through diffusion. 

Q7. Which of this organelle is not present in human cheek cells? 

(a) Nucleus                                                   (b) Chloroplast                                                  
(c) Lysosomes                                               (d) mitochondria 

ASSERTION - REASON  



Directions: In the following questions, a statement of assertion (A) is 

followed by a statement of reason (R). Mark the correct choice as: 

 (a) Both assertion (A) and reason (R) are true and reason (R) is the 

correct explanation of assertion (A).  

(b) Both assertion (A) and reason (R) are true but reason (R) is not the 

correct explanation of assertion (A).  

(c) Assertion (A) is true but reason (R) is false.  

(d) Assertion (A) is false but reason (R) is true. 

Q8. Assertion (A): sponge is the solid matter which we easily compressed by 

our hand .  

Reason (R): Sponge has minute hole which is full of air by pressing it the air is 

further absorbed in hole. 

Q9. Assertion (A): Mitochondria and chloroplasts are semiautonomous 

organelles.  

Reason (R): They are formed by division of pre-existing organelles and contain 

DNA but lack protein synthesizing machinery. 

Q10. Assertion (A) : Rasin is swell up when it gets contacted with the water. 

Reason (R) : Rasin gain oxygen from water by diffusion 

 

SHORT ANSWERS: 

Q11. A person takes concentrated solution of salt, after sometime, he starts 

vomiting. What is the phenomenon responsible for such situation? Explain 

Q12. Liquids generally have lower density as compared to solids. But Rahul 

observed that ice float on water. Justify 

Q13.Write three differences between plasma membrane and the cell wall. Also, 

write two functions of each. 

Q14. If you are provided with some vegetables to cook. You generally add salt 

into the vegetables during cooking process. After adding salt, vegetables release 

water. What mechanism is responsible for this? 

Q15. Why do the doctors advise to put strips of wet cloth on the forehead of a 

person having high fever? 

Q16. 100 ml of water was placed in four vessels A, B , C , D. Vessel C , A and D 

are of same size , B is smaller. Vessel C is covered and C and D are placed under 

the fan 



      

(I) In how many beakers, water will escape into atmosphere as vapours ? 

(II) After one hour from the beginning of the experiment the water level 

will fall to the maximum in which beaker?  

a) C                                 b) A                           

c) D                                 d) Both in A and D 

Q17. Analyse the temperature versus time graph of water, given be                                                    

 

(I) Which region contains all liquids?  

(II) Why steam at 100°C is better for heating purposes than water at 

100°C. 

Q18. 

 

Name the changes in the terms of process P, Q, R and S? 

 

COMPETENCY BASED QUESTIONS: 



Q19. Sania conducts an experiment to know how plant cells lose or gain water 

through osmosis. She cuts out 5 cm long potato strips. She puts three potato 

strips in each of the following beakers: 

Sania leaves the potato strips in the beaker for 5 hours. 

• Beaker 3 containing 2% salt solution 

• Beaker 2 containing 1% salt solution 

• Beaker 1 containing only water 

 

 

What can Sania conclude from her experiment?  

(a) Cells gain water through osmosis when kept in salt solution.  

(b) Salt molecules from the cell move out when kept in water.  

(c) Cells in salt solution first gain water and then gradually lose water. 

(d) Water molecules move out of the cell based on the amount of salt in the 

solution. 

Q20. In which beaker was the concentration of water molecules inside and 

outside the potato cells likely to be the same? Explain your answer 



Tina found a syringe in her science lab. The mouth of the syringe was closed 

with a rubber cork. Tina tried to press the piston of the syringe as much as 

possible. 

                               

(a) Tina found that it was difficult to piston as it moved deeper. Explain 

the reason with reference to the change in space between the 

particles. 

Tina found three more syringes of the same size closed with rubber cork. She 

took the piston out of each syringe and fiiled the with coconut oil, saw dust and 

cotton. Tina closed the end of each syringe with piston. She then tried to press 

the piston of each syringe as much as possible. 

                          

(b) Arrange the syringes in increasing order of difficulty of pressing them 

Key: less difficult  � more difficult 

A. Syringe 1 → Syringe 2 → Syringe 3 

B. Syringe 3 → Syringe 2 → Syringe 1 

C. Syringe 1 → Syringe 3 → Syringe 2 

D. Syringe 2 → Syringe 3 → Syringe 1 



21. Explore new ideas for INSPIRE AWARD MANAK and prepare writeup 

beforehand for inspire award. 

 



ग्रीष्मकाऱीन अवकाश गहृकायय 
कऺा - 9 

ववषय - हहन्दी 
   1.औऩचाररक ,अनौऩचाररक ऩत्र क्या है , उदाहरण सहहत समझाये ? 

   2 .उऩसगयऔरप्रत्ययसेआऩक्यासमझतेहैंकोईभी10 उऩसगयऔर10 प्रत्ययसे5-5 शब्दबनाए। 

  3. वाक्य क्या है , अथय के आधार ऩर वाक्य भेद को सजृनात्मक ऱेखन द्वारा स्ऩष्ट 

कीजजए । 

   4.ननम्नलऱखखतववषयोंऩर100शब्दोंमेंअनुच्छेदलऱखखए। 

(क)मेरेजीवनकाऱक्ष्य/उदे्दश्य 

(ख)आतंकवाद:समस्याऔरसमाधान 

5.भजक्तकाऱकेतीनकववयोंकेबारेमेंजानकारीप्राप्तकरकेएकप्रोजेक्टबनाइए। 

 

 

 

 

 

 



 

 

 

 

 

 


